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1 km/hr.=5/18
1 m/s = 18/5 km/hr. 8
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A man can row upstream at 7 kmph and downstream at 10kmph.find man’s rate 1n still

water and the rate of current.

Ueh Sf<h T oh fiehet 7 TohwT i 51 3 €T o bt 10 foret Sid &g shl w1 | 1ef =il
GohdT Bl e arh # =afs st i 31T gy <t <2 J1d shifsig

><(a) @ m/h and@n/h

(b) 8.5 km/h and 1.5 km/h

AN U NOE kMkm/h
o' E5 / () 85 kmv/h and 2 km/h
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A man takes 3 hours 45 minutes to row a boat 15 km downstream of a river and

2hours30minutes to cover a distance of Skm upstream. find the speed of the river current in
km/hr.

U <Afh Teh e k] el o ST 15 =l 0 T BT 3 5 45 T GHY AT g 3T
o1 35 gk s PR FA 0 o e 2 52 30 fe 1 e }?m/smﬁqaﬁw
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(a) 4.2 km/hr V- = \Emphy
(b) 3.8km/hr  —p

(d) m/hr
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A man can row 7 2 kmph 1n still water . if 1n a river running at 1.5 km/hr an hour,it takes

him 50 minutes to row to a place and back , how far off 1s the place?

ATeHT fer gt 1§ 7 1 Torsft ufa sie it fd © <1a =/t "anat g1 If At | 1.5 fordiysier hi nfa 9
I & 2, 1 38 Teh T W A S 999 37 F 50 fide @ 2, TE T ferT gL &7
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:,2{7\9—(}/\/(% 2 E}\“}S () 4.5 km

%%g/ . (d) 1km
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In a stream running at 2kmph,a motar boat goes 6km upstream and back again to the

starting point in 33 minutes.find the speed of the motarboat 1n still water.
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Mohan can swim in water at a speed of 9 km/h 1n still water. If the speed of the stream 1s 3
km/h, what will be the time taken by the Mohan to swim 84 km) downstream?}

Ore Rer ST § 9 fertfi/sieT &t =iTel § 9% TehaT 21 IfS ORI <t =Tet 3 TehH/EeT 2, o Hig &)

YT o 3TTehct 84 TohHT dT | fehd1 e <o
U = A tmeh
e = \ (a) 6 hours
(b) 8 hours
(¢) 5 hours

(d) 7 hours
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A man can row 40km upstream and 55km downstream in 13 hours also, he can row 30km

upstream and 44km downstream 1n 10 hours.find the speed of the man in still water and the

speed of the current.

Teh SATGHT 13 =i | oft 9T oh Sfcrenet 40 foreT 1T 9T o 31ehet 55 fopet 0t Eehell 2, =78 30
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A boat travel 240 km downstream 1n 3 hours and the time 1s taken by the boat to travel the
same distance 1n upstream 1n 6 hours. Find the speed of stream (in kmph).
Ueh AT 91T o SREN 240 TerHt sht I 3 B¢ H Tt & ST 1 1T >|Ic|°hcfl e aﬁom 6 TS
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A swimmer can swim downstream at 14 kmph and upstream at 6 kmph. What is the speed

of the swimmer 1n still water?

Ueh aeh &R o 31@51 14 Tort SIfl ©1S shl T | I G o Tidished 6 TohrT i ©1 skl T & o
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A man rows downstream 32 km and 14 km upstream, and he takes 6 hours to cover each

distance. What 1s the speed of the current?

Ueh Sk 9T o 3Tkt 32 fopuft AT ety o wfciehet 14 foret A1) =retrar 2, 330 Tedeh gl =
a3 %{4ﬁ6ﬂ%wﬁ%‘lﬂwﬁdlﬂ AT 27
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\) +\% —C
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&\} 3 (c) 1.5 km/hr
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The speed of the current 1s 5 km/h. A motorboat goes 10 km upstream and back again to

the starting point in 50 min. The speed (in km/h) of the motorboat in still water 1s

9T ol 111t 5 Torefi/EieT 81 Teh HIeEIE 9T o Hfciehet 10 forHl STt @ 371X 50 fe | fe g
W%@WWWW%WW]?W@H%(F@WH&)%
\} = §\<va

(a) 20

. . =
AV-S (b) 26
\T@ e @’-' \ 9/




SSC CHSL 2022-23

The current of a stream runs at the rate of 3 km/hr. A boat goes 4.5 km and comes back to

the starting point in 2 hrs. The speed of he boat 1n still water 1s :-

ST o SISl shl GT 3 TeRHl/EiaT 21 Teh A1l 4.5 Teheft <erelt @ 31T 2 s § Tri¥eh foig W oo STt
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X — ( o \5 (¢) 10 km/hr.

(d) 12 km/hr.
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A boat goes 2 km upstream in a stream flowing at 3km/h and then return back to the

starting point in 30 minutes. What 1s the speed of the boat 1n still water?

ek 1o 2 Teheft shl gl o &7 oh Wicished STt 8 o2 ST 370 T O 30 fe | 311 Sreft @) Al
T shT ST 3 TohcATHIeT el B 81 ol ST ST § |19 shl STl &R=IT BT 2
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(a) 8km/h
(b) 3km/h

(\‘ Y (c) 9km/h
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